
Mounting instructions

9-23101

Cartoon Trolley 2300x587x1456 mm



 

 

 

 

Mounting instructions

1

2

9-23101-10

8-814-1

8-814-0

M10x60

Washer M10

Locking nut M10

9-23101-11

9-23101-11

9-23101-12

M10x60



 

 

Mounting instructions

3

4

9-23101-002

M10x50

Nut M10

8-825-0

M6x20



 

Mounting instructions

5

6

9-23101-003 (4x)

M6x12

1
5


